Team Z7 (e-Walkers) GNG 2101 — Walker Brake System Design and BOM

Images of 3D Model of the Walker Brake System using SolidWorks

Detailed Assembly Drawing of Parts (SolidWorks Assembly Drawing)

eVWhka
" Walker Brake
2




Close-up View of Detailed Assembly Drawing Parts

e o TRt NUwEER vescrriion a
T Jprare cavie pante] SraFa oabia from s pier 1o Fandie 0
T feotie conresor (ran 5] Srare cabie conmeotr v
5 Fano motoripan) aral Gaars e mator 48U 4y v
1 fneraisrop (ram 1) 314" et vap 2 note E
T feanie spierbox an T1a] Wi broke Cabia spiTe 1o 0
T Fwespan T WI%ToTsoRat Rand Cap Torew B
7 |prawe savie FanTe] Wire irara cabie (et langh] B
15l [box Enclosure (Part 7) Wwateproof Box ¢.2" k3.5 %2 4" 1
B [conn esror (Part 18] connectorstain kelief023-0 47 E]
1o Jroros sansor (ram a1 Foroa sansor 0
W frrare cabie Ao arTe TraFa Cabie o pier 1o WE ol Frarer B
1z [pamel adjuster (Part 11¢) brake < aple bamel Adjuster
T bwes pam1al ix20335kat Raaa Cap soraw
13 e 1o foroe Sancor (rari2,55) | Wi Ramess o for fansor (¢ot o langh | T
Vs [atwamar (rar 151 s fiat wamer G
o T Fr— -
15 Enciosue ran 6.6.9) wire 10 enai 1 PO e-Walker
V7 Wem et fpar 14 [ErET e ) e
e TrorE] G US T SRR T e Walker Brake
i3 ‘Iqweryrm:klruntvl AA & baftery Fack T A
B ssy Drg.
T e wewen i Gionig Fem w T v - y Lrg
e s, 1o
2 = il s D | ks AsyDrg
B Tt e (BAoK] <75 (14 o] g et | una
e e GeALE T EGHT | shEET1 0F1

7 & 5 4 3 2 ]




Bill of Material Updated July 12th, 2021 @ 6:02 PM

STATUS QUANTITY | PART DESCRIPTION UNIT TOTAL
# PRICE
Have 1 ea. 1 Metal Gear Servo Motor 4.8-6V Link $6.00 | $6.00
Have 1 ea. 2 | Arduino Uno Link (Reuse from Lab Kit) $20.00 | $20.00
Have 1ea. 3 | AA 4x Battery Pack Link (Reuse from Lab Kit) $1.00 | $1.00
Have 1 ea. 4 | Force Sensor Link $3.00 | $3.00
Have 1 ea. 5 25T Servo Winch Wheel Link $4.47 | $4.47
Stock Can. Tire | 1 ea. 6 Polyethylene Tubing %”0D x 0.170” ID x 25 ft. $7.99 | $7.99
Link
On Order Due 1 ea. 7 | Waterproof Box 6.2”x3.5”x2.4” Link $14.99 | $14.99
in July 13th
Stock U of O? 1 ea. 8 | 5 ft. Red 22awg Wire Link $1.60 | $1.60
Stock U of O? 1ea. 9 | 5 ft. Black 22awg Wire Link $1.60 | $1.60
Stock Can. Tire | 1set 10 | Brake Cable and Casing Link $8.49 | $8.49
Needs 1 ea. 11a | 3” Wide Cable Splitter Assembly (Custom $4.78 | $4.78
fabrication built) 3” wide C-Channel Link and 3” wide
0.5x0.5 sq. stock Link
Have 1 ea. 11b | Brake Cable Connector SO S0
Have 1 Bag of 12 | 3/4” Metal Strap (2 hole) Link $2.31 | $2.31
5
Have 6 ea. 13 | M4 x 20 Socket Head Cap Screw Link $0.10 | $0.60
Have 6 ea. 14 | M4 Hex Nut — Zinc Plated Link $0.17 | $1.02
Have 12 ea. 15 | M4 Washer - Zinc Plated Link $0.10 | $1.20
Stock Home 1 ea. 16 | Cable Ties (Black) 3-5/8” (16 Pack) Link $2.49 | $2.49
Hardware
Stock U of 0? 2 ea. 17 | Latching Push Button Switch Link $0.70 | $0.70
Have 3 ea. 18 | Connector Strain Relief 0.23-0.47” Link $1.68 | $5.04
$87.54
SUBTOTAL | $87.54
SALES TAX | $11.38
SHIPPING & HANDLING S0
TOTALDUE | $98.92



https://edu-makerlab2021.odoo.com/shop/product/servo-motor-76?page=4#attr=143
https://edu-makerlab2021.odoo.com/shop/product/arduino-5#attr=5
https://edu-makerlab2021.odoo.com/shop/product/aa-battery-holder-48#attr=47
https://edu-makerlab2021.odoo.com/shop/product/force-sensor-17?page=2#attr=
https://www.ebay.ca/itm/304016837968
https://www.canadiantire.ca/en/pdp/precut-tube-1-4-in-od-x-0-170-in-id-0632884p.html#srp
https://www.amazon.ca/LeMotech-Junction-Dustproof-Waterproof-Electrical/dp/B07C97BBMX/ref=pd_lpo_469_t_0/137-4010974-1622840?_encoding=UTF8&pd_rd_i=B07C97HXX8&pd_rd_r=7ae82e25-a50a-4881-b311-889cadd44366&pd_rd_w=RWwoo&pd_rd_wg=2wmSj&pf_rd_p=83e3102e-d62a-49fe-be3a-977069c19060&pf_rd_r=75MAV7QPXE55NTGQFEV2&refRID=75MAV7QPXE55NTGQFEV2&th=1
https://makerstore.ca/shop/ols/products/5ft-hook-up-wire-22awg-red
https://makerstore.ca/shop/ols/products/5ft-hook-up-wire-22awg-black
https://www.canadiantire.ca/en/pdp/supercycle-bike-derailleur-cable-and-casing-0737445p.html
https://makerstore.ca/shop/ols/products/c-chanel-steel-per-inch/v/BF014-4-X1
https://makerstore.ca/shop/ols/products/square-bar-steel-per-inch/v/BF010-0-5
https://www.homedepot.ca/product/iberville-2-hole-rigid-strap-3-4-in-bag-of-5/1000138633
https://edu-makerlab2021.odoo.com/shop/product/allen-screw-hex-socket-cap-70#attr=97
https://www.homedepot.ca/product/paulin-m4-0-70-class-8-metric-hex-nut-din-934-zinc-plated/1000128515?intid=PIP_FBT_210610_RECOBELOWDESC_ALL_EN_UXR843EXPB
https://edu-makerlab2021.odoo.com/shop/product/washers-74?page=4#attr=123
https://www.homehardware.ca/en/16-pack-3-58-black-cable-ties/p/8619211?page=search-results%20page
https://edu-makerlab2021.odoo.com/shop/product/push-button-switch-81?page=3#attr=147
https://www.guillevin.com/product/connector-strain-relief-13-5mm-range-0-23-0-47-plastic-9603527059

